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QUESTION 1

Refer to the exhibits.

Conversion

Date Rate
2017-01-01 12.8
2017-03-04 11.2
2017-06-10 13.4

Calendar

Date
2017-01-01
2017-01-02
2017-01-03

A business analyst must see a currency conversion rate for any given date in a chart. The currency conversion rate data
is held in a separate table in the database and only contains a record when the rate changes. An existing master
calendar exists in the data model that contains a full set of dates.

Which technique should the data architect use to meet this requirement?

A. Join the calendar with the currency conversion table Order by date and use the Peek function to fill in the blank
values

B. Use IterNo and autogenerate to create a new calendar max and min dates of the currency conversion table Force
concatenate with the master calendar

C. Use a For loop between the start date and end date of the master calendar Use the Match function to add the
currency conversion rates to the master calendar

D. Use IntervalMatch to load the currency conversion rate between dates the conversion changed Inner Join the
resultant table back into the master calendar

Correct Answer: A

QUESTION 2

Refer to the exhibit.
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Name Country
Bob USA
John US
Fred US.A
Amy France

The Country field in a CRM app is a free-form text field. More spelling variations and countries are expected in the
future. A data architect must create a field called CountryCode based on the value in the Country field.

Which script should the data architect create to perform this task?

A,

LCAD Hame,
Pick (Match (Country, "USA*, 'US*, 'U.5.A.", '"France!') , *USA*, 'USA', "USA', 'FRA') AS CouncryCode:

B. CouncryCode:

MAFFING LOAD ~ INLINE [
Country, CountryCods
USAR., USA
05, USA
U.5.A., USA
France, FRA

Ta

Fezrsonsi
LOAD Hams,
ApplyMap ("CountryCode" ,Country, "UNK"'") AS CountryCode;

-

LOAD Name,
If (Lefr(Country i)="0',."USA','FRA') AS CouncryCode;

INLINE |

P, -y - -
cuntry; CountryCode
]

Peraons:
JOIN LOAD Mame,
Country:

A.B.C.D.

Correct Answer: B

QUESTION 3

Refer to the exhibit.
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Employees ‘

EmployeelD # ,

EmployeeNa...

Address
= |
State
. J o
N Customers
Budget Sales CustomerlD 2
EmployeelD EmployeelD CustomerName

ProductID v. ProductID
Year » Yea

A data architect is reviewing an app that is under development. The app as NOT been published. All data has been
validated in all charts and KPIs. The data architect notices that the data model has two fact tables with common field
names that cause a synthetic join.

Which step should the data architect take to correct the data model without affecting the app?

A. Concatenate LOAD the data from the Sales and Budget tables to combine into a single table.

B. Create a composite key in the Sales and Budget tables that consists of the Year, EmployeelD, and ProductID

C. Perform a composite key in the Sales and Budget tables instead of loading Year, EmployeelD, and ProductiD

D. Perform a mapping load for the Employees table and use ApplyMap in the Sales and Budget tables.

Correct Answer: D

QUESTION 4
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A data architect needs to develop three separate apps (Sales, Finance, and Operations). The three apps share
numerous identical calculation expressions. The data architect wants to reduce duplicate script and stores it on a file
server that Qlik Sense can access.

How should the data architect complete requirements?

A. Call batch file

B. Macro on server

C. Execute server script

D. Include script function

Correct Answer: D

QUESTION 5

A car manufacturer has several QlikView apps. The manufacturer decides to migrate some specific apps to Qlik Sense.
The manufacturer decides to migrate some specific wants to reuse front-end variables from the previous QlikView app.

Which strategy should a data architect use to meet these requirements?

A. Use the QlikView converter within the Dev Hub of Qlik Sense

B. Drag and drop a QVM file into the Qlik Sense hub and create a new app

C. Export the existing LOAD script into a QVS file for later reuse in Qlik Sense

D. Copy and paste the LOAD script of the existing QlikView app into the new app.

Correct Answer: A

QUESTION 6

Refer to the exhibits.
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EmplD Dept Jan Feb Mar Apr May Jun
1A 60 63 53 61 80 57
ZA 60 62 56 3 i 65
iB 61 62 EO 66 T7 75
4B T2 72 35 70 54 77
5B 72 72 a5 33 60 37
Commission

EmpID  Dept  ManagerD Level
| 14 10 Junior

2A 11 Senior
3 A 10 Junior
48 12 Junior
58 11 Senior
Employee |
el - I r r )
FROM [lib cerc/Bookl.xlzx
i ml, =mbedded labels, table is Commission):
M [lilk cerc/Bookl.xisx]
{ ml, mbedded f » Dle Emplovyveasa) :

The two tables have been loaded by the script shown. This script creates a synthetic key, which is not desired. The Dept
code in the Employee table is incorrect for EmplD=3. The data architect must change line 27 to create a single table in
the data model that is accurate.

Which LOAD statement should the data architect use?

A. JOIN LOAD EmplD, ManagerID, Level

B. KEEP LOAD EmplID, ManagerID, Level

C. JOIN LOAD *

D. CONCATENATE LOAD EmplID, ManagerID, Level

Correct Answer: A

QUESTION 7

Stocks levels are stored online in a system that keeps information for the current period only.
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What should the data architect do to enable analysis of the trends of the stock levels?

A. Use On-Demand App Generation (ODAG) to create new apps from the selected period
B. Capture the periodic information in an incremental QVD file for use in an app

C. Create an app for each period as it changes and use document chaining

D. Create an app for each period and use a binary load task to create a single app

Correct Answer: B

QUESTION 8

Refer to the exhibit.

LOA inline |

LCCESS, USERTD, REGION

ATMIN, DOMARTIN\A, NORTH

ADMIN, DOMAIN\A, WEST

ADMIN, DOMAIN\B, EAST
v

Sectlion Application;

LOAL * 1inline

REGION,

NCRTH,

EAST,

WEST,

SOUTH

How should the account that runs the Qlik Sense Services be configured in the Section Access table?
A. ADMIN, QLIK_SERVICES,

B. ADMIN, DOMAIN/QLIK_SERVICES,

C. ADMIN, QLIK_SERVICES,*

D. ADMIN, DOMAIN\QLIK_SERVICES,*

Correct Answer: C

QUESTION 9
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Refer to the exhibits.

A B C

Revenue

Date Product Revenue
01.01.2018 Product A 5600
01.02.20128 ProductB 4800
01.03.2018 Product A 5200
01.04.2018 Product B 4600
01.05.2018 Product A 5100
01.06.2018 Product B 4400
01.07.2018 Product A 4800
01.08.2018 Product B 3200
01.09.2018 Product A 4400
01.10.2018 Product B 1200

Et:Emm-q.mlm.-h-mmu

A | B | C
Customer Survey

SurveyDate SurveyProduct SurveyScore

01.01.2018 Product A

01.02.2018 Product B

01.03.2018 Product A

01.04.2018 Product B

01.05.2018 Product A

01.06.2018 Product B

01.07.2018 Product &

01.08.2018 Product B

01.09.2018 Product A

01.10.2018 Product B
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A company notices that product sales have decreased. A data architect needs to create an app to show the correlation
between the decreased revenue and the latest customer survey results.

Which Qlik Sense feature should the data architect use to meet this requirement?
A. Section access

B. On-demand App Generation

C. Master item library

D. Associative data model

Correct Answer: C
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QUESTION 10

A data architect has a QVD file that contains data from many countries. The data architect must write a script that loads
only data from France, and make sure the reload occurs as fast as possible.

Which script should the data architect use to meet these requirements?

A,

b B I

LOAD ¥ INLINE [
Country

France 1

LOAD ¥ FROM TRANSRCTICNS.gvd (gvd) Whare ENISTS (Countzry} i

DROP Table T1

B. LORD * FRCM TEANSACTICNS.gvd (gvd) Where Match (Country,'France'):

oy ke e . -
LOAD * FROM TRANSACTICONS.gvd (gvd) Where Country='France';
A.B.C.
T3
LOATY * INLINE |
Country

I
w
P

[y
i

LoAD - FROM TEANSRCTIONS.gvd (gvd) Where Mateh (Country, 'France')

D.

Correct Answer: A
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